
How can we represent the Demographic Transition Model 
as population pyramids? 

On the next page you will see four population pyramids. Each one represents a stage of the 
demographic transition model. 

They are in the wrong order - rearrange them into the correct order

In the space underneath write a description of the pyramid shape and try to write an explanation

Base Top Wide

Narrow
High/low 
birth rate

High/low 
death rate

Longer/
shorterLife 
expectancy

Fall in...
Concave/
convex

Try and use the words in the box to help you
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